
Matematika – Procvičování 

(práce v učebnici str. 27 - 28) 

Jméno:_______________ 

 

 

 

546 : 6 =  zk:  248 : 4 =  zk: 606 : 3 = zk: 

 

 

 

 

 

332 : 8 =  zk:  907 : 9 =  zk: 517 : 5 = zk: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Slovní úloha str. 27 cv. 34 (ústně) 

 

 

Slovní úloha str. 27 cv. 35  

Zápis:  ________________________________     Výpočet: 

 _________________________________ 

  

Odpověď: 

______________________________________________________________________ 

 

 

 

Slovní úloha str. 27 cv. 41  

Zápis:  ________________________________     Výpočet: 

 _________________________________ 

_________________________________ 

  

Odpověď: 

______________________________________________________________________ 

 

 

 


